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ML9 Chapter 11 Problems of the Week Answers

BLM 11–4 Chapter 11 Problems of the Week

1. a) 
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b) The break in the scale creates the misleading impression that the stocks have increased significantly in value.

2. a) Example: This year an average of 6.4% of students were absent compared to last year when an average of 7% of students were absent. Although this is a slight improvement, it does not represent a significant change.

b) Examples:

• How many months does the 6.4% rate represent? If it is early in the school year, it would be premature to make a statement about improved attendance.

• What absentee rate would be considered a significant improvement?

• Is an absentee rate of 6 or 7% reasonable?

3. Example: The mean for each set of scores is 63. For Amy, the median is 67.5, and the mode is 90. For Peter, the median is 63, and the mode is 65. For Molly, the median is 73, and there are 2 modes (95 and 52). The mean is the most accurate reflection of performance.

4. a) Example:

	Sample
	Likely Bias
	Reason

	Sample Current customers
	In favour 
	They are already happy with the product. It might be useful to know why they are happy.

	Ex-customers
	Not in favour 
	They are unhappy with the product. It might be useful to know why.

	Daytime

phone
	Non-working adults 
	Many people who are at home during the day do not work. Their opinions may not represent all working adults. 

	E-mail
	Adults with Internet access
	Internet users may not represent all working adults. 


b) Examples:
• No. An online survey for Internet products can ignore people who do not use the Internet.

• No. A phone survey in the afternoon for a product aimed at retired adults will likely result in reaching the target population.
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